DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 3)

PIVISTON WITH -10 TO 10 1;?;1: Score: y—
o) —34.72+2 = 6 —17126 = 2 =
302) 2752 + 2 = a7 1140 + (=2) =
308) —8.46 + 2 = 518 5767 + (—10) =
09 —630.54 + 9 = 319 —49.8 + (=2) =
305 —507.96 + 9 = 3200 186.3 +6 =
3000 —330.42 +6 = 21 —60160 +~ (—10) =
07 294.68 + (—4) = 22) 3952.8 + (—9) =
08 682.8 + (—2) = 23 116.4 + 10 =
309 98630 + (—10) = 24 207.05 + (=5) =
50 —12.17 = (—1) = 325 —16500 + (=3) =
s 1957 + (—10) = 3200 —4603.2 - 8 =
312) —326.34 + 6 = 27 5484 + (=3) =
513) 13168 + 2 = 328) 21860 =4 =
54 —7359 =+ (—1) = 3290 —9936 - 9 =
s15) 5073+ 1 = 3300 —10988 + 4 =
Mathematics: Division - Level 6 - Horizontal - Set 3 12 culu
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